Graph the line passing through the point (4, -2) with a slope of

The “pitch’ of a building's roof is the slope of the roof. Knowing the
pitch is important in climates where there is heavy snowfall. If the
roof is too flat, the weight of the snow may cause it to collapse. What
is the slope of the roof shown?
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Have you ever thought about the sewage pipes going from your house to the
street? They must slope dﬂwr‘.-’l- inch per foot in order to drain properly. What

is the required slope?
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Slope-Intercept form of a line
y=mx+b

m= 5!0?:-

b = Y- in-‘sﬂulﬂt
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Use Slope-Intercept Form of an Equation of a Line

What you will learn about:

Graph the line y = 4x — 2 using its slope and y-intercept
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Graph the line y = 2x — 3 using its slope and y-intercept
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Graph a line using its slope and y-intercept.
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Step 1. Find the slope-intercept form of the equation of the line
Step 2. Identify the slope and y-intercept
Step 3. Plot the y-intercept

rise y
Step 4. Use the slope formulam to identify the rise and the run
rumn

Step 5. Starting at the y-intercept, count out the rise and run to mark
the second point
Step 6. Connect the points with a line

Graph the line y = —x + 4 using its slope and y-intercept
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Graph the liney = — gx — 2 using its slope and y-intercept
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X--“w{'-f"' Graph the line of the equation4x — 3y = 12
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Graph the line of the equation 2x —y = 6
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lecst Metheds to Graph Lines
Point Plotting Slope-Intercept Intercepts Recognize Vertical
Skuade L | and Horizontal
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. X=a, Y b :
Find three points. | Find the slope and | Find the fitefcepts | The equation has
Plot the points, y-inlercel:L and a third point. | only one variable.
make sure rhe Start at the Plat the points, ¥ =avertical —=p A4
line up, then draw | y-intercept then make sure they line | y = b horizontal
the line. count the slope ta | up, then draw L‘P A
get a second point. | the line. °|
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STRATEGY FOR CHOOSING THE MOST CONVENIENT METHOD TO GRAPH A LINE
Caonsider ihe fonm af the aqualion
I 0 oty has ope yariahie, |1 3 vericsl o horzontal Ine

@ Is & yertical line

=g theough the r-mos ol @

» ¥ = bis a honzonis! bne passng through the oo atb

« If 15 Soatan on one Side of the equatian I the 1am 4§ = mr 4 b oraph Oy wsng the siape and y-Imercept
& liedity the skope Snd y-inercegl angd then graph

o it ihe cquation & of fhe form Ar + By — €, find the inlercepts

« Fitdd the x- ang ¥-iINercepts, 8 11 poinl, and then gragh

Determine the most convenient method to graph each line.
a) y=—6 —% HeriBentul (N> ')()
b) 5x—3y=15 ~*® Tutencpls
0 x=7 Verbieal (Mo y
d y= Zx—1 Sslepe
g Y-.‘,.-qupt
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The equation F = ;C + 32 is used to convert temperatures, C, on

the Celsius scale to temperature, F, on the Fahrenheit scale.

a) Find the Fahrenheit temperature for a Celsius Temperature of
0.

b) Find the Fahrenheit temperature for a Celsius Temperature of
20.

c) Interpret the slope and E-zintercept of the equation.

Euw bime C Fn:.n....-;ulsy Yhea C=0 [ =32°

F~ dacriese 'b-; 13
7 d) Graph the equation.

The equation h = 2s + 50 is used to estimate a woman’s height in

inches, h, based on her shoe size, s.

a) Estimate the height of a child who wears women's shoe size
0.

b) Estimate the height of a child who wears women’s shoe size
8.
c) Interpret the slope and h-intercept of the equation

d) Graph the equation
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